Which of the following is equal to  � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ����(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Which of the following is equal to  � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


Simplify  � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


Simplify  � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


Which of the following are third roots of � EMBED Equation.2  ���?�	I.  � EMBED Equation.2  ����	II. � EMBED Equation.2  ����	III. � EMBED Equation.2  ����	IV. � EMBED Equation.2  �����(A)  I & III	(B)  II & IV	(C)  I & II	(D)  II & III	(E)  NOTA


What is the sum of the real roots of � EMBED Equation.2  ���?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the magnitude of � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B)  11	(C)  � EMBED Equation.2  ���	(D)  73	(E)  NOTA


Which of the following is not equal to � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the sum of the nine complex ninth roots of � EMBED Equation.2  ���?��(A)  4	(B)  2	(C)  0	(D)  -2	(E)  NOTA


Which of the following is equal to � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Consider two complex numbers, � EMBED Equation.2  ��� and � EMBED Equation.2  ���.  By how many degrees must the vector from the origin to � EMBED Equation.2  ���in the complex plane be rotated to be aligned with the vector from the origin to � EMBED Equation.2  ���?��(A)  15	(B)  30	(C)  45	(D)  60	(E)  NOTA


Which of the following are complex fifth roots of  � EMBED Equation.2  ���?�	I.  cis 288º�	II. cis 198º�	III. cis 108º�	IV. cis 18º��(A)  I	(B)  I & III	(C)  II & IV	(D)  IV	(E)  NOTA


� EMBED Equation.2  ��� and � EMBED Equation.2  ��� are nth roots of 1.  Which of the following is not necessarily an nth root of 1?��(A)  1	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


A cubic equation with integer coefficients has � EMBED Equation.2  ��� and 4 as two of its roots.  What is the third root?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


A quartic equation with integer coefficients has � EMBED Equation.2  ��� and � EMBED Equation.2  ��� as two of its roots.  Given that the leading coefficient is 1, what is the constant term?��(A)  -36	(B)  -50	(C)  36	(D)  50	(E)  NOTA


Which of the following are roots of � EMBED Equation.2  ���, given that � EMBED Equation.2  ���is a root and c and k are elements of the integers?�	I.  -10�	II.  -12�	III. � EMBED Equation.2  ����	IV. � EMBED Equation.2  �����(A)  I & II	(B)  II	(C)  I & III	(D)  III & IV	(E)  NOTA


Which of the following are subsets of the imaginary numbers?�	I.  The real numbers�	II.  The complex numbers�	III.  The irrational numbers��(A)  I	(B)  II	(C)  I & II	(D)  II & III	(E)  NOTA


How many complex roots does the equation � EMBED Equation.2  ��� have?��(A)  4	(B)  3	(C)  2	(D)  1	(E)  NOTA


Determine the sum of the cubes of the roots of � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ����(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Evaluate:  � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


Evaluate:  � EMBED Equation.2  �����(A)  -1 + i	(B)  1 - i	(C)  -2i	(D)  2i	(E)  NOTA


� EMBED Equation.2  ��� and � EMBED Equation.2  ���.  What is the value of � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ����(D) � EMBED Equation.2  ���	(E)  NOTA


A teacher placed an equation of the form � EMBED Equation.2  ���on the board to be solved.  Joe miscopied the value of c and got � EMBED Equation.2  ���as the roots.  Jim miscopied the value of b, resulting in roots of � EMBED Equation.2  ���.  Julie copied the problem down correctly...  What will she get for roots?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


A geometric series has a common ratio of � EMBED Equation.2  ���.  Its first, third, and fourth terms form an arithmetic series.  What is the second term of the original series?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


Solve for b:  � EMBED Equation.2  �����(A)  4	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


Determine the sum of A and B in the system of equations.�	� EMBED Equation.2  ����	� EMBED Equation.2  �����(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


Evaluate:  � EMBED Equation.2  �����(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ����(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the limit of the real component of � EMBED Equation.2  ��� as � EMBED Equation.2  ���increases?��(A)  1	(B)  0	(C)  e	(D)  � EMBED Equation.2  ���	(E)  NOTA


Evaluate:  � EMBED Equation.2  �����(A)  -i	(B)  i	(C)  -1	(D)  1	(E)  NOTA


A polynomial with integer coefficients and leading coefficient 1 has no real roots.  What is the minimum value possible for its constant term?��(A)  -1024	(B)  -1	(C
